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L’élève	n’est	pas	en	mesure	de	répond	pas	à	la	majorité	des	
questions.		Il	ne	peut	pas	parler	du	rôle	du	système	circulatoire	et	
il	ne	parle	pas	des	adaptations	des	animaux	et	des	plantes	
lorsqu’on	parle	des	saisons.		De	plus,	il	ne	peut	pas	faire	un	lien	
entre	le	bas	de	la	chaine	alimentaire	(l’herbe)	et	la	survie	des	
autres	espèces.		De	plus,	l’élève	n’est	pas	en	mesures	de	parler	
des	structures	des	deux	différents	oiseaux	mais	il	ne	réussit	pas	à	
faire	un	lien	des	structures	d’un	oiseau	avec	son	environnement.	
	
	












